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Mikel[LL 1] W/S] Uc | Uc' [Dsl 1] Fel%] | O[deg]
casel-1-1ff 10 2800 | 0.5 |4.26 | 1.01 1.84 0.0 20
casel-2-1f| 10 2800 [ 0.35 | 4.26 | 1.01 1.84 0.0 20
casel-3-1f 10 2800 [ 1.0 |4.26 | 1.01 1.84 0.0 20
case2-1-1f| 10 2800 [ 0.5 |12.22] 0.61 1.24 0.0 20
case2-2-1f| 10 2800 [ 0.35 |12.22] 0.61 1.24 0.0 20
case2-1-2f 10 2800 [ 0.5 |15.45] 0.66 1.12 5.0 20
case2-2-2| 10 2800 [ 0.35 |15.45] 0.66 1.12 5.0 20
case2-1-3|| 10 2800 [ 0.5 ]22.48]0.78 0.99 10.0 20
case2-2-3|| 10 2800 [ 0.35 |22.48]0.78 0.99 10.0 20
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